
 

CHAPTER – 2 POLYNOMIALS (Extra Questions) 

1. Write the zeros of the polynomial 𝟐𝒙𝟐 –
𝟕

𝟐
𝒙 +

𝟑

𝟒
. 

2. Write a quadratic polynomial, the sum and product of whose zeros are –3 and  2 

respectively. 

3. If one zero of 𝒑(𝒙) =  𝟒𝒙𝟐 – (𝟖𝒌𝟐 –  𝟒𝟎𝒌)𝒙 –  𝟗 is negative of the other, find 

values of 𝒌.  

4. If a and b are zeros of polynomial 𝟔𝒙𝟐 –  𝟕𝒙 –  𝟑, then form a quadratic 

polynomial whose zeros are 𝟐𝒂 and 𝟐𝒃.   

5. If the zeroes of the quadratic polynomial 𝒙𝟐  +  (𝒂 +  𝟏)𝒙 +  𝒃 are 𝟐 and –  𝟑, 

then  

(a) 𝒂 = –  𝟕, 𝒃 = –  𝟏    (b) 𝒂 =  𝟓, 𝒃 = –  𝟏   

(c) 𝒂 =  𝟐, 𝒃 = –  𝟔             (d) 𝒂 =  𝟎, 𝒃 = –  𝟔  

6. What will be the number of zeros of a linear polynomial p(x) if its graph  

(i) passes through the origin.  

(ii) does not intersect or touch x-axis at any point?  

7. If 𝒂 and 𝒃 are the zeros of the polynomial 𝒙𝟐 –  𝟓𝒙 +  𝒎 such that 𝒂 –  𝒃 =  𝟏, 

find 𝒎.  

8. If 𝒂 and 𝒃 are zeroes of the 𝒙𝟐 + 𝟕𝒙 + 𝟕, find the value of 𝒂−𝟏 + 𝒃−𝟏 − 𝟐𝒂𝒃 

9. 𝒑 and 𝒒 are zeroes of the quadratic polynomial 𝒙𝟐 − (𝒌 + 𝟔)𝒙 + 𝟐(𝟐𝒌 − 𝟏). Find 

the value of 𝒌 if 𝟐(𝒑 + 𝒒) = 𝒑𝒒. 

10.  If m, n are zeroes of 𝒂𝒙𝟐 − 𝟓𝒙 + 𝒄. Find the value of a and c if 𝒎 + 𝒏 = 𝒎 × 𝒏 =

𝟏𝟎. 

11. If zeros of 𝒙𝟐 –  𝒌𝒙 +  𝟔 are in the ratio 𝟑 ∶  𝟐, find 𝒌.  

12. If the sum of squares of zeros of the polynomial 𝒙𝟐 –  𝟖𝒙 +  𝒌 is 𝟒𝟎, find the value 

of 𝒌.  

13. If the product of zeros of 𝒂𝒙𝟐 –  𝟔𝒙 –  𝟔 is 𝟒, find the value of 𝒂. Hence find the 

sum of its zeros.  

14. Find the value of k such that 𝟑𝒙𝟐 +  𝟐𝒌𝒙 +  𝒙 –  𝒌 –  𝟓 has the sum of zeros as 

half of their product.  

15. If a and b are zeros of 𝒙𝟐 –  𝒙 –  𝟐, find a polynomial whose zeros are (𝟐𝒂 +  𝟏) 

and (𝟐𝒃 +  𝟏).   

16.  – 𝟓 is one of the zeros of 𝟐𝒙𝟐  +  𝒑𝒙 –  𝟏𝟓, zeros of 𝒑(𝒙𝟐  +  𝒙)  +  𝒌 are equal to 

each other. Find the value of 𝒌. 
 

17. If a and b are zeros of 𝒚𝟐  +  𝟓𝒚 +  𝒎, find the value of m such that 

(𝒂 +  𝒃)𝟐 –  𝒂𝒃 =  𝟐𝟒 

18. If 𝜶, 𝜷 are the zeroes of the quadratic polynomial 𝒙𝟐 + 𝟑𝒙 +    𝟔, find the values 

of:  (𝒊) 
𝜶

𝜷
+ 

𝜷

𝜶
                                                 (𝒊𝒊)𝜶𝟐 + 𝜷𝟐                    

       (𝒊𝒊𝒊) 𝜶𝟑 + 𝜷𝟑                                        (𝒊𝒗)
𝟏

𝜶𝟐
+  

𝟏

𝜷𝟐 
        

        (𝒗)
𝜶𝟐

𝜷
+ 

𝜷𝟐

𝜶
                                            (𝒗𝒊) √

𝜶

𝜷
  +  √

𝜷

𝜶
 

19.  If 𝜶, 𝜷 are the zeroes of the quadratic polynomial 𝟑𝒙𝟐 − 𝟔𝒙 + 𝟒, find the values 

of: 



                     (
𝜶

𝜷
+ 

𝜷

𝜶
) + 𝟐 (

𝟏

𝜷
+ 

𝟏

𝜶
) + 𝟑𝜶 𝜷  

20. If 𝜶, 𝜷 are the zeroes of the quadratic polynomial 𝟐𝒙𝟐 − 𝟒𝒙 + 𝟏, find the values 

of 
𝟏

𝜶+𝟐𝜷
+ 

𝟏

𝜷+𝟐𝜶
 . 

21.  If 𝜶, 𝜷 are the zeroes of the quadratic polynomial  𝟐𝒙𝟐 − 𝟓𝒙 + 𝟕 =     𝟎, then find 

a polynomial whose zeroes are 𝟐𝜶 + 𝟑𝜷, 𝟑𝜶 + 𝟐𝜷.  

 

   Answer Key 

1. 
𝟑

𝟐
,

𝟏

𝟒
                  18  (iii) 27       (iv) –

𝟏

𝟏𝟐
 

2. 𝒌 (𝒙𝟐 + 𝟑𝒙 + 𝟐)      18. (v) 
𝟑

𝟐
                         (vi) −

√𝟔

𝟐
 

3. k = 0 or -5 

4. 𝟑𝒙𝟐 − 𝟕𝒙 − 𝟔      19. 8    

5. (d) 𝒂 = 𝟎, 𝒃 = −𝟔      20. 
𝟏𝟐

𝟏𝟕
 

6. (i) 1 (ii) 0       21. 𝟐𝒙𝟐 − 𝟐𝟓𝒙 + 𝟒𝟏 

7. 𝒎 =  𝟔 

8. −𝟏𝟓 

9. 𝒌 = 𝟕 

10.  𝒂 =
𝟏

𝟐
, 𝒄 = 𝟓 

11. 𝒌 = 𝟓 𝒐𝒓 − 𝟓 

12.  𝒌 = 𝟏𝟐 

13.  −𝟒 

14.  𝒌 = 𝟏 

15.  𝒙𝟐 − 𝟒𝒙 − 𝟓 

16.  𝒌 =
𝟕

𝟒
 

17. 𝒎 = 𝟏 

18. (i) –
𝟏

𝟐
               (ii) – 3                       


